Geometry - 10,5 - Tangents

Theorem 10.9

Theorem 10.10 (Converse of Thm 10.9)
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Ex 1 - If RS is tangent to circle Q at R and
QS =100, find the diameter of circle Q.

t.D/\—O(: 12 6

S q%b%= et
oA~ ¢
g0 QA"+ OF { O
Q& “€ (oo = looco
A IR ~LHoo ~buvo
& Beand -
‘\;’/,‘\”(’1 ‘. \/ b ©
bo-1 RA= bo r‘\( EL
v
Ex 3 -Is WE tangent to circle D?
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Ex 2 - Determine if BC is tangent to ®A.
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Ex 4 - Assuming the segments are tangent to both
circles and the circles are tangent to each other, find
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Ex 5 - ASIB is circumscribed about ()G. Find the
perimeter of ASIB if Nl = OB + 9.
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